
AQA FP1 June 2017 

 

 

 

Bury Maths Tutor 

 

 
 

 

The sum of the roots is 2𝛼 + 4 = −
𝑝 
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5
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5
⇒ 𝑝2 − 400 = 20𝑞 ⇒ 𝒑𝟐 = 𝟐𝟎𝒒 + 𝟒𝟎𝟎   

 
 
If 𝛼 and 𝛼 + 4 are the roots of 5𝑥2 + 𝑝𝑥 + 𝑞 = 0 then  𝛼2 and (𝛼 + 4)2 are the 

roots of 5𝑢 + 𝑝√𝑢 + 𝑞 = 0 
 

Rearranging gives 5𝑢 + 𝑞 = −𝑝√𝑢 ⇒ 25𝑢2 + 10𝑞𝑢 + 𝑞2 = 𝑝2𝑢 ⇒ 

25𝑢2 + (10𝑞 − 𝑝2)𝑢 + 𝑞2 = 0 ⇒ 𝟐𝟓𝒖𝟐 − (𝟏𝟎𝒒 + 𝟒𝟎𝟎)𝒖 + 𝒒𝟐 = 𝟎  
 
 
 

The sum of the roots is 
10𝑞+400

25
 and each root is 

5𝑞+200
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𝑞

5
+ 8 

The product of the roots is (
𝑞

5
+ 8)
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5
= −8 ⇒ 𝑞 = −20  
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